Introductic	n to der	<u>rivatives</u>													
Up until nou $\lim_{x \to c} \frac{f(x) - f(c)}{x - c}$	o, we ho	we defined	instaneo	us rate of c	hange using the	formula:									
This utilizes what happ	the for ens whe	mula for th n x approa	ne averagi ich c, but	e rate of cl doesn't qui	nange over [x, ite reach it	c] and sees									
There is and close to c, is to decrea	There is another way to consider this value. Rather that trying to bring $x$ close to c, we can consider the range $[x, x+n]$ where h goes to zero. The idea is to decrease the change of x to be close to nothing.														
We now us not depend $\lim_{h \to 0} \frac{f(x+h) - f(x)}{x+h - x}$	e an up lon a vo $\frac{x}{2} = \lim_{h \to 0}$	dated insta alue c: <u>f(xtn)-f(x)</u> h	intaneous	s rate of ch	ange formula t	hat does									
Example Le	+ f(x)= +	Find the $\frac{f(x) - f(c)}{x - c}$	instantan	eous rate o (6) new	f change at $x$ formula: $\lim_{x \to 0} \frac{f(x+y)}{(x+y)}$	= 2 both ways. $\frac{h}{x^{c}}$									
	. Χ <sup>ε</sup> , L <sup>2</sup> . Ζ •. Ι	$\begin{array}{c} x \rightarrow z \\ x \rightarrow z \\ x \rightarrow z \end{array}$			h-90	h									
		1im मरू x-> x-2				<u>(x+h)ร</u> ท									
	· · · · ·	$\lim_{x \to z} \frac{(z-x)(z+x)}{4x^2}$			= lim ***	$\frac{(x^2+2xh+h^2)}{x^2(x+h)^2}$									
		$\lim_{z \to 1} \frac{x-z}{(z-x)(z+x)}$	$\frac{1}{2}$		= lim <u>*-</u>	2xh-h <sup>2</sup>									
		x->2 4x²	. x-c		h-90	<u>n</u>									
		$\lim_{x \to 2} \frac{(2-x)(2+x)}{4x^2}$	-1(-***		$=\lim_{n\to 0} \frac{-2x}{x^2}$	$\frac{(n-n)^2}{2(x+h)^2}$									
		$\lim_{x \to 0} \frac{2 + x}{-4 + 2}$			= \im -2xi	<u>n-h²</u> . <u>1</u>									
		X->2			₩-30 X°(	XHD).									
		<u>2+2</u> -4(2) <sup>2</sup>			$\therefore$ $\therefore$ $\sum_{n=0}^{\infty} \lim_{x \to 0} \frac{1}{x^2}$	$\frac{2\chi(H)}{\chi(\chi(H))^2} = \frac{1}{2}$									
		<u>ц</u>			= lim -(2	x+h)									
					h->0										
		- 4			$= \frac{-ZX}{X^2 X^2}$										
					· · · · · · <u>-2</u> · · ·										
					· · · · · · · · ·										
					$f'(z) = \frac{-2}{(z)^2} = -2$	2 = 1									

## Math 10350 – Example Set 04A Sections 3.1& 3.2 Differentiability & Derivative of a Function

**Definition 1** A function f(x) is said to be <u>differentiable</u> at x = c provided the following limit exist:

 $\lim_{x \to c} \frac{f(x) - f(c)}{x - c}$ 

Rather than finding the instantaneous rate of change at a point x = c using  $\lim_{x \to c} \frac{f(x) - f(c)}{x - c}$ . We can find the instantaneous rate for any point in the domain of f(x) and then plug in c. To do that we use the formula  $\lim_{n \to 0} \frac{f(x+n) - f(x)}{x + n - x}$ . When x = c,  $\lim_{n \to 0} \frac{f(c+n) - f(c)}{c + n - c}$ .

This means that the slope at x = c of the graph is a <u>real</u> number. We denote this number by f'(c).

Graphically, differentiable means that each small segment of the graph of f(x) is almost identical to a straight line. This is illustrated in Figure 1 through 3 below. As you zoom into the point (c, f(c)), the segment of the graph of f(x) near point c becomes more and more like its tangent line at x = c.



**Remark:** We say that a function f(x) is differentiable on (a, b) if f(x) is differentiable for all x = c in (a, b). **Theorem 1** If f(x) be <u>differentiable</u> at x = c, then f(x) is <u>Continuous</u> at x = c.

1. Let  $f(x) = \frac{1}{x^2}$ . Compute the derivative or the slope function of f(x) using limits by following steps below. a. Find the average rate of change of f(x) over the interval between x and x + h assuming that  $h \neq 0$ . This is also called the

**b.** Using (a), find the derivative of f(x) (w.r.t. x) using the limit definition.

**c.** What is the instantaneous rate of change of f(x)?

**d.** Find the equation of the tangent line to the graph of f(x) at x = 2. Draw a graph that describe the limiting process in (c) and its connection to the tangent line.

1. Let  $f(x) = \frac{1}{x^2}$ . Compute the derivative or the slope function of f(x) using limits by following steps below.

**a.** Find the average rate of change of f(x) over the interval between x and x + h assuming that  $h \neq 0$ .

.(0	).	ge	ne	<b>Y</b> (	al	exi	pre	:55	sion	$\frac{f(x+n)-f(x)}{x+h-x}$		$\frac{f(x+h)-f(x)}{h}$	•		•
		Ical	19.y	2	Ėι	X)=	1 X2	•	<u> </u> (x+	$\frac{1}{m^2} - \frac{1}{x^2} - \frac{1}{x^2}$	•	$\frac{\chi^2 - (\chi + h)^2}{(\chi + h)^2 \chi^2}$	•	$\frac{\chi^{2} - \chi^{2} - 2h\chi - h^{2}}{x^{2}(x+h)^{2}} = \frac{2h\chi - h^{2}}{x^{2}(x+h)^{2}}$	•
	•									<u>h</u>		h		h h	
٠		٠	٠		٠	٠	٠	٠	0	multiph by = reciprocal =	-	$\frac{2hx-h^2}{x^2(x+h)^2} \cdot \frac{1}{h}$	1	$\frac{1(-2x-h)}{hx^{2}(x+h)^{2}} = \frac{-2x-h}{x^{2}(x+h)^{2}}$	÷

**b.** Using (a), find the derivative of f(x) (w.r.t. x) using the limit definition.

(Ь)	ge	ne	ral	e	хp	res	551	on'		m or	<u>+</u>	(×+ ×+\	<u>h)-</u> n -	<u>- f(</u>	( <u>X)</u>	• • • •	lin h-1	n v	<u>£(x</u>	<u>. th)</u>	<u> </u>	(x)	•	•	•	0		•	•		0	•
 U	s.h	en	f	x	)= '	<u> </u> x²		im 1-70	- <u>7</u> x	<u>x -)</u> ²(x+	<u>n</u> Hh)²	. =	- <u>2</u> > ×	<u>८</u> भ <sub>्</sub> ः	-2	2 ( <sup>3</sup> .	•	•	•	•	•	•	•	•	•	•	•	•	•	•	•	•
с. W	/hat	t is	the	ins	tant	ane	ous	rat	e of	cha	nge	of	f(x	)?	•	+	•	*	*	+	+	+	•	*	•	٠	٠	٠	٠	٠	*	•
(C)	•	•	•	•	•	•	•	•	•	•	•	•	•	•	•	•	•	•	•	•	•	•	•	•	•	•	•	•	•	•	•	
• •		٠	٠			٠		٠		٠	٠	٠	٠	٠	٠	٠	٠		٠	٠			٠		٠		٠	٠			٠	•
• •	•	•	٠			•	•	•	•		•	•		•	٠				•	•	•	•				٠	٠	٠		•		

**d.** Find the equation of the tangent line to the graph of f(x) at x = 2. Draw a graph that describe the limiting process in (c) and its connection to the tangent line.

0	l		zer	neri	al	tai	nge	ent	lir	1e	eq	Jat	ion	ai		= <u>C</u>	•	1-	f(c	:)=	f'(	c) (	X-	C)	•	•	•	•	•	•	•	•	•	•
٠		. (	Su	en	<b>†</b> (	X)=	ײ	ξ. X	= 7	•	۲-	+ (2	; ) =  =	+ (  v:	,Z) -7)	(X-	· <u>(</u> )			+	·[2]	) := - \'	22 =	म -	- 1	•	·		•	•	٠			٠
٠	٠	•	•	٠	•	•		•	٠	•	Υ.	- 4 - <del>1</del> :	- 4 	() X+	2		٠			. †	[7	) = •	23 -	22	- 4		•	•	٠	•	٠	•	•	٠
•	•	٠		•	•		٠	•		•		-1 -1	רי. אר (	3	4	•	•	٠	•		•	•		•	•		•	٠	•	•		٠	•	•
•	•	٠	•	•	•	•	•	•	•	•	•		•		•	•	•	•	•	•	•	•	•	·	•	•	·	•	•	•	•	•	•	•
•	•	•		•	•			Ĩ	ţ	(x)	= _x2		•	•	•	•	•	•	•	•		•	•	•	•	•	•		•	•	•	•	•	•
								Ţ									•																	
								-3																		٠		٠						
								+2										٠																
											•														٠							•		
٠		-			-								Marca	2			٠						٠				•						•	٠
٠		•					٠				ang						٠				•	•	٠	·	•		·	٠		•		•	•	
•	•	•	•	•	•	•	•	<b>I</b>	•	•					<b>X</b> = (	•		•	•	•	•	•	•	•	•	•		•	•	•	•	•	•	•
•	•	•	•		•	•	•	<b>I</b>	•	•		•	•			•	•	•	•	•	•	•	•	•	•	•	•	•	•	•	•	•	•	0
•	•		•	•	•	•	•		•	•	ang		•			•	•		•		•	•	•	•	•	•	•	•	•	•	•	•		•
•		•	•	•	•	•	•	<b>I</b>	•		ang					•	•	•		•	•	•	•	•	•	•		•	•	•	•	•		•
•	•	•	•	•	•	•	•		•				•		· · · · · · · · · · · · · · · · · · ·	•	•	•	•	•	•	•	•	•	•	•	•	•	•	•	•	•	•	•
•	•	•	•	•	•	•	•								· · · · · · · · · · · · · · · · · · ·	•	•	•	•	•	•	•	•	•	•	•	•	•	•	•	•	•	•	•
· · · · · · · · · ·	· · · ·	•	•	•	•	•	•		•			•			· · · · · · · · · · · · · · · · · · ·	· · ·	•	•	•	•	•	•	•	•	•	•		•	•	•	•	•	· · ·	· · ·
• • • • • •	· · · ·	· · · · · · · · · · ·	· · · · · · · · ·	• • • • • • • •	• • • • • • • •	• • • • • •	· · · ·				• <u>•</u> ••••••••••••••••••••••••••••••••••	· · ·	•			•	• • • • • • • •	• • • • • • •	• • • • • • •	• • • • • • • •	• • • • • •	• • • • • • • •	• • • • • • • •		• • • • • • • •	• • • • • • • •		· · · · · · · · ·	• • • • • • • •		• • • • • • •	•	• • • • • • • •	
		· · · · · · · · · · · · · · · · · · ·	• • • • • • • •	• • • • • • • • •	• • • • • • • • •	• • • • • • • •	· · · · · · · · · ·	<ul> <li>.</li> <li>.</li></ul>			• <u>•</u> ••••••••••••••••••••••••••••••••••					•	• • • • • • •	• • • • • • • • •		• • • • • • • •	• • • • • • •	• • • • • • • •	• • • • • • •			• • • • • • • •	• • • • • • • • •	· · · · · · · · ·			• • • • • • • •	• • • • • • • •		

**Derivative of a function.** The derivative of the function f(x) is given by the following limit:



Setting  $\Delta x = h$  and  $\Delta y = f(x+h) - f(x)$  gives the notation:

$$f'(x) = \underbrace{\lim_{h \to 0} \frac{f(x+h) - f(x)}{x+h - x}}_{h \to 0} = \underbrace{\lim_{h \to 0} \frac{f(x+h) - f(x)}{h}}_{h \to 0}$$

Notation: If y = f(x) is a differentiable function. Write down all standard notations of the derivative of y = f(x).

$$\frac{df}{dx} = f'(x) = \frac{d}{dx}(f) \text{ or } \frac{dy}{dx} = y'(x) = \frac{d}{dx}(y)$$

**Some Common Derivatives.** For any numbers k and n:

$$\frac{d}{dx}(k) \stackrel{?}{=} \lim_{h \to 0} \frac{\mathbf{k} - \mathbf{k}}{h} = 0 \qquad \qquad \frac{d}{dx}(x^n) \stackrel{?}{=} \mathbf{n} \mathbf{x}^{\mathbf{n} - \mathbf{i}} \qquad (\text{Power Rule})$$

**Basic Properties of Derivatives:** 

$$[f(x) + g(x)]' \stackrel{?}{=} f'(x) + g'(x) \qquad [f(x) - g(x)]' \stackrel{?}{=} f'(x) - g'(x) \qquad [c \cdot f(x)]' \stackrel{?}{=} C \cdot f'(x)$$

2. Find the derivative of each of the following functions with respect to the :

a. 
$$f(x) = \sqrt{x} + \frac{\pi}{\sqrt{x}}$$
  
 $= (x)^{1/2} + \pi x^{-1/2}$   
 $= \frac{1}{2}x^{-1/2} + -\frac{1}{2}\pi x^{-3/2}$   
 $= \frac{1}{2\sqrt{x^{1}}} - \frac{\pi}{2\sqrt{x^{3}}}$   
b.  $y = \frac{x^{3} + 5x + 6}{x}$   
 $= 2t^{2} + t^{2}t^{1/2}$   
 $= 2t^{2} + t^{2}t^{1/2}$   
 $= 2t^{2} + t^{2}t^{1/2}$   
 $= 2t^{2} + t^{2}t^{1/2}$   
 $= 2t^{2} + t^{2}t^{2}$   
 $= 2t^{2} + t^{2}t^{2}$   
 $= 2t^{2} + t^{2}t^{2}$   
 $= 2t^{2} + t^{2}t^{2}$ 

 $\mathbf{2}$